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1. Explain the meaning of the followingterms as used in public finance (2 marks)
a) Tax evasion_______________________________________________________________________
  __________________________________________________________________________________
b) Tax avoidance_____________________________________________________________________
__________________________________________________________________________________

2. Highlight four benefits brought about by the Thika superhighway to the country (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d)___________________________________________________________________________________
  ____________________________________________________________________________________
3. State fourcharacteristics of economicresources (4 marks)
a)___________________________________________________________________________________
b)___________________________________________________________________________________
c)___________________________________________________________________________________
d)___________________________________________________________________________________
4. State the uses of the following documents in home trade (4 marks)
i)Proforma invoice_____________________________________________________________________
ii)Bill of exchange______________________________________________________________________
iii)Bank draft__________________________________________________________________________
iv)Credit note_________________________________________________________________________
5. Highlightfourdifferencesbetweenmemorandum of association and articles of association (4 marks)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
6. State the effects of the following transactions in the totals of assets and liabilities of a business i.e. increase, decrease or no effect (4 marks) 

i) Brought in hispersonal van worth Ksh.350, 000 for use in the business__________________________
ii SoldgoodsworthKsh 100,000 in cash_____________________________________________________
iii) Withdrew Ksh.250, 000 to pay a creditor_________________________________________________
iv) TookKsh 50,000 from the business for personal use________________________________________
7. Givefourways in which the Kenyan governmentcan encourage business development (4 marks)
a)___________________________________________________________________________________
b) ___________________________________________________________________________________
c)___________________________________________________________________________________
d) ___________________________________________________________________________________
8.Highlightfour uses of national incomestatistics (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________

9.  On 1st July, 2011, Bidii had Ksh.35, 000 in cash and Ksh.80, 000 at bank. 
      During the month the following transactions took place:
July 2; Cash sales banked Ksh.8, 000
”   5; Paid a creditor Zawadi Ksh.14, 500 by cheque
”   15; Paid salaries Ksh. 5,000 in cash
”    17; Withdrew Ksh.25, 000 from bank for office use
”   30; Deposited all the cash into bank except Ksh.3500
Prepare a two column cash book duly balanced (5 marks)











10. Identifyfourwaysthroughwhich businesses giveafter sale services to theircustomers (4 marks)
a)___________________________________________________________________________________
b)___________________________________________________________________________________
c)___________________________________________________________________________________
d)___________________________________________________________________________________
11. A motor vehicle valued at 800,000 was comprehensively insured at Ksh500, 000. The motor vehicle was involved in an accident and declared a write off. Calculate the amount of compensation paid by the insurer giving reasons. (4 marks)










12. Highlightfour benefits of delocalization of industries in the economy (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b)___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________

13. State how the followingfactors of businessenvironment influence a business (4 marks)
a) Physical environment_________________________________________________________________
_____________________________________________________________________________________
b) Business structure ___________________________________________________________________
_____________________________________________________________________________________
14. For each of the ledger account given below indicate the ledger in which they are kept (4 marks)

	Ledger account
	Ledger in which it is kept

	a)Discount received
	

	b)Drawings
	

	c)Sales returns
	

	d)Capital
	

	e)Purchases
	

	f)J.Mwangi, a credit buyer
	

	g)Cash in hand
	

	h)Furniture
	



15. Highlightthreecircumstancesthatmay lead to dissolution of partnershipform of business organisation (3 marks)
a)___________________________________________________________________________________
b)___________________________________________________________________________________
c)___________________________________________________________________________________
16. Fill in the termsused to refer to the followingpoliciesunderinsurance (4 marks)
a)Coverslosesarising as a result of interruption or temporary stoppage of business activities___________________________________________________________________
b) Protectemployersagainstlossesfromdishonestemployees__________________________________
c)Compensate for losses of cash or goods in transit___________________________________________
d) Compensate the creditorfromdefaulteddebts_____________________________________________
17. Outlinefour problemsbrought about by universitiesopening up in residentialestates (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b)___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________
18. Highlightfourbenefitsthat accrue to a country from revival of its industries (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________
19. The table below represents a farmer’s supply of tomatoes to a local town (4 marks)

	Year
	Quantity(tonnes)

	2010
	400,000

	2011
	300,000

	2012
	200,000


Assuming the price remained constant, outline four possible reasons for the trend in the supply of tomatoes
a)___________________________________________________________________________________         
[bookmark: _GoBack]   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________

20. Outlinefour factorsthat an organization has to put intoconsideration in choosing the correct office layout (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________

21. Highlightfouradvantagesthat accrue to a chain store trader fromowningaprivatewarehouse (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________

22. The following are balances of Ukweli traders as at 30th June, 2012 
Ksh
Capital 50,000
Debtors 48,500
Salaries due45, 000
Cash in hand 45,000
Rent 30,000
Bank overdraft20, 000
Equipments 20,000
Creditors 28,500
Required:-Extract a trial balance (5 marks)












23. Highlightfourshortcomings of a rapidlygrowingpopulation (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________

24. The following transactions relate to Uzima traders for the month of December 2011

Dec1; Sold goods on credit to Paul Ksh.6, 000 and John Ksh.4, 000
    ”2; Paul returned goods worth Ksh.1, 000
“5; Sold goods for cash Ksh. 4,000 to John 
“7; Sold goods worth Ksh.8, 000 to Paul, Ksh.6, 500 to Tom and Ksh. 5,500 to John
“10; Goods were returned by Tom Ksh. 500 and John Ksh. 1,500
Required:-Prepare the relevant day books (5 marks)











25. Country X has a deficit of 3.2 billion in its balance of payment account. State four steps that it should undertake to correct this deficit (4 marks)
a)___________________________________________________________________________________         
   ___________________________________________________________________________________
b) ___________________________________________________________________________________
  ____________________________________________________________________________________    
c)___________________________________________________________________________________
  ____________________________________________________________________________________
d) ___________________________________________________________________________________
  ____________________________________________________________________________________
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